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Chemisiry 11
STOICHIOMETRY
PERCENT YIELD WORKSHEET

1.20.0 grams of Bromic acid, HBrO3 , is reacted with excess HBr: _lq q B(’
HBrO3 (aqg) + 5 HBr (aq) -----> 3 H,0 (I' + 3 Brs (aq) 0‘) * [}
a. What is the THEORETICAL YIELD of Brs for this reaction? [>)
b)) 63.6 %

b. If 47.3 g of Brz is produced, what is the PERCENTAGE YIELD of Br, *

Bﬁ_

2. For the following reaction:
Ba(NO3)2 (aq) + NapSO4 (aqg)----> BaSQy, (s) + 2 NaNO3 (aq)
When 35.0 g of Ba(NOg); is reacted with excess Na,SOy, 29.8 g of BaSOy is

recovered by the chemist. oo BI. 5 BGSO\’
a. Calculate the THEORETICAL YIELD of BaSO,.
b. Calculate the PERCENT YIELD of BaSO;. b) 95.2 % BaSOy

3. Yeast can act on sugar, such as glucose, CgH120g, to produce ethyl alcohol,
C2Hs0H, and Carbon dioxide. o
CeH1206 (8) ---> 2 CoH50H (1) + CO5 (g) 368 /n
If 223 g of ethyl alcohol are recovered after 1.63 kg of glucose react, what is the ﬁ'cd‘\ét
PERCENTAGE YIELD of ethyl alcoho!?

4. Solid Calcium carbonate decomposes into solid Calcium oxide and Carbon diO)l(ide
gas. Under certain circumstances this reaction proceeds with a 92.4% yield of Calcium
oxide. How many grams of Calcium oxide can the chemist actually obtain if 12.4 g of

Calcium carbonate is heated? CQ cog(&) — CGO (3) 4 CO‘ca)

5. The following reaction proceeds with a 70.0% vyield. 6 .q 15 QQ
CsHe (1) + HNO3 (aq) ---> CgHsNOs (1) + Ho0 (I)
Calculate the mass of CgHsNO» actually obtained if 12.8 g of CgHg reacts with excess

HNO; . 1y 3 Cb HQNQI

6. The reaction of toluene, C7Hg , with Potassium permanganate, KMnO, , gives less
than a 100% vyield.

C7Hg (1) + 2 KMnOy (aq) ---> KC7Hs0; (aqg) + 2 MnOs (s) + KOH (aq) + H20 (1)
a. 8.60 g of C7Hg is reacted with excessKkMnO,4 . What is the THEORETICAL YIELD, in
grams, of KC7Hs0, ?
b. If the Percent Yield is 70.0%, what mass of KC;Hs0, can be actually obtained?
c. What mass of C7Hg is needed to produce 13.4 g of KC;H50, assuming a yield of

60.0%7 Q} lg.o 5 K(']“SOI

D) 105 g kG H¢o,
Q) 1. g CyMg



